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48 '1;1he sa_ri:?ple Space contains 5 A’s and 7 B's. What is
the probability that a randomly selected set of 2 will
f"g include 1 A and 1 B? d g
49 The sampl? Space contains 6 A’s and 4 B’s. What is
Fhe probability that a randomly selected set of 3 will
include 1 A and 2 B’s?
The samplf: Space contains 10 A’s and 6 B’s. What is
'the probability that a randomly selected set of 4 will
include 2 A’s and 2 B's?
In a cii:'y of 120,000 people there are 20,000
Norwegians. What is the probability that a ran-
domly selected person from the city will be
Norwegian?
In a ci_ty of 180,000 people there are 20,000
Norwegians. What is the probability that a random
sample of 2 people from the city will contain 2
Norwegians?

4.10

411

412

4.14 A fund manager is considering investing in the

stock of a health care provider. The manager’s
Jx assessment of probabilities for rates of return on this
=3 stock over the next year is summarized in the
accompanying table. Let A be the event “Rate of
return will be more than 10%" and B the event “Rate
of return will be negative.”

More than
20%

10% to
20%

-10%to 0% to
0% 10%

Less than
—=10%

Rate of
return

Probability 0.04 0.14 0.28 0.33 0.21

Find the probability of event A.
. Find the probability of event B.
Describe the event that is the complement of A.
. Find the probability of the complement of A.
Describe the event that is the intersection of A
and B.
Find the probability of the intersection of
A and B.
. Describe the event that is the union of A and B.
. Find the probability of the union of A and B.
Are A and B mutually exclusive?
Are A and B collectively exhaustive?
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4.17 A department store manager has monitored the num- W
ber of complaints received per week about poor ser- - - /
£X  vice. The probabilities for numbers of complaints in a /&3 z( gmcém L/:w dé é L
3 week, established by this review, are shown in the
following table. Let A be the event “There will be at X # / / é o 73_ e Clw

least 1 complaint in a week” and B the event “There
will be less than 10 complaints in a week.”

2o, W

Number of More a? &a)f: OB rore
complaints 0  1to3 4to6 7to9 10to12 than12 g ol
Probability 0.4 039 023 015 006  0.03 A X = 1 P Egu ?-

a. Find the probability of A.

b. Find the probability of B. B X< 109, Ly 2han

c. Find the probability of the complement of A. ) /-

d. Find the probability of the union of A and B. ‘o = }-

e. Find the probability of the intersection of

A and B.
Are A and B mutually exclusive?
g. Are A and B collectively exhaustive?

) pra) = PCX>12)=2- prxsi)= £-6i14 = 0,55
b) prB) =P(XL10) = 1=PCK>10) = £~ Joi06+0:03] = 0,91

laa

o) PLA) = 1= PEA) = 0014

e)ﬁ[ﬁ/)ﬁ)_._. P1 £X4/0)=0:39%0f237’-0;/5: O, 77

PLA)4 PLB)— P CANB)= O £ 0, 9)- 01?7 =1

J) p(AVB) =
/) Moy PLANG) # O

9) Yes, peavs) = 4

€

Alp Girayf)zen| 0533 549 91 08 | alp@lecturemania.com | www.lecturemania.com



lecturemania

Corchtimal Pobobbty X Lpafoesctoce
*&J/‘Z&@, /‘é"& a-<e J}ZV i o%/ra/a//%

. - - i e ® & J}{b
(/ﬂa"‘ /Ja,/ 6//./«9/4 é'// ») 4“/
e Cwple. Porert qf;-éﬁmffr qz;,z’) Ziser
7934 Lhat arofhe~ evert
by occored

fxg_ A .rf{/? ar oo chorias ma/ W 7”~s .ﬂé%

o
@X“) ks bl  Whie / el
7@ 5 1é 3/ 4
/-_c/uaé. 35 /5 /O b0

TorAL 42 31 14 / e

ki He AubebiS FT

a)f rerdm } Choosen  pRr5o7 /3
é)ﬂ M"{ﬁ‘% chooser perSan

c) A by hosr fOTEE
oo A5 Y T 7

L) tf # B Ao
He pors® 17 Female ” i

e) wrP T a

st ?
colects white 7
/s M aﬂc{

Fonk, wAT

G2

Alp Giray Ozen | 0533 549 91 08 | alp@lecturemania.com | www.lecturemania.com




¥ lecturemania

a = 49 9/ "‘:‘-/—‘—P-
/ P(M/ /oo / {wj Vo)
C/}/ _,épfb zz
o P EAR)s L2

JoO

(/i) cCondiFrraal
25
oﬂﬁ[ﬁ/ﬁ e

Fa &wy’cé/- He. /Vaéda{'% 72 fF - (e}
%0  _ _f[w/ﬂf)
PLE/

e/ PWIF) = —jf;-*

- et B
/D/W/F)" 68 &2 00

T pewal f(ﬂ/z?):—-——/ﬁ/

23 kprn LoernE
Sandspn fm‘;(/ l

i (He howledpe o) B
v %, cross M//Q/Zav;éu, va fave,

M/M’) = PCB). 7 [ﬁ//})jz; tbplectin, Aole.

Jor example; PUFNB) = PUF). PABIF) = £9., B L2

&

Alp Giray Ozen | 0533 54991 08 | alp@lecturemania.com | www.lecturemania.com



lecturemania

XK T everis A o’ B ae %éz«e&z/

3 ever X bes
/ / bpo w éc}z ﬂ/’ occorasce. 571 one
/)a/ a/m}z, ﬁé //‘ﬂ/a//%} ﬁl Aé J/%/‘ Qu&z/

Then, A ad B are sealzestbr ¥ P
f (R/8) =PR) ) lor PCBIA)=F))
)6‘ ?ﬂa/ye/la-éoaz_ " fé %UI{J% 2-"‘¢é’-f/‘“€-

bhondbl. —BAEGRIE S P

PLAIB) = O  obr” ’ *
,&fw.r/&- &éwéf ?V‘//‘f é’v"/ %‘a{/‘

w PUAIB) = HA)

i o rdymerats £ B
[ perns) = o). PC8)

M— e Lobr Lhorie fﬂ#ﬂdézz‘;

Fry &
L Gant)

a:;? i P Coler aé,ze./’ﬁﬂc@/:/{%),//ﬁ«g
/év- au?/- chorte. ﬂ/‘ Y ye %’fa&jﬁ/&{/‘.
P 72727) £ fem) /f/,y
o, 4l
S o Teo_, wor crfases
0,060 # alé4 ™ @

Alp Giray Ozen | 0533 549 91 08 | alp@lecturemania.com | www.lecturemania.com



lecturemania

4.21 The probability of A is 0.60 and the probability of B

is 0.40 and the probability of either is 0.76. What is
—=5, the probability of both A and B?

4.22 The probability of A is 0.60 and the probability of B is
0.45 and the probability of both is 0.30. What is the
probability of either A and B?

4.23 The probability of A is 0.60 and the probability of B
is 0.45 and the probability of both is 0.30. What is the
conditional probability of A, given B? Are A and B
independent in a probability sense?

4.24 The probability of A is 0.80 and the probability of B
is 0.10 and the probability of both is 0.08. What is the
conditional probability of A, given B? Are A and B
independent in a probability sense?

427 A company knows thatarival is about to bring outa
competing product. It believes that this rival has
three possible packaging plans (superior, normal,
cheap) in mind and that all are equally likely. Also,
there are three equally likely possible marketing
strategies (intense media advertising, price dis-
counts, and use of a coupon to reduce the price of
future purchases). What is the probability that the
rival will employ superior packaging in conjunction
with an intense media advertising campaign?
Assume that packaging plans and marketing strate-
gies are determined independently.

428 A financial analyst was asked to evaluate earnings
prospects for seven corporations over the next year
and to rank them in order of predicted earnings
growth rates.

a. How many different rankings are possible?

b. If, in fact, a specific ordering is the result of a
guess, what is the probability that this guess will
turn out to be correct?

430 A securities analyst claims that, given a specific list
of six common stocks, it is possible to predict, in the
correct order, the three that will perform best during
the coming year. What is the probability of making
the correct selection by chance?

431 Astudent committee has six members—four under-
graduate and two graduate students. A subcommit-
tee of three members is to be chosen randomly so
that each possible combination of three of the six
students is equally likely to be selected. What is the
probability that there will be no graduate students
on the subcommittee?
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445 An inspector examines items coming from an 445/ /Jm Z!/-'= 2y a‘s-,

assembly line. A review of her record reveals that

'she accepts only 8% of all defective items. It was /(& /‘c Ave / M,ﬂ/: o, 0 ¥ A

also found that 1% of all items from the assembly

line are both defective and accepted by the inspec-

o What is the probability that a randomly chosen P ( f Soctive e wr?) - o0l 4
item from this assembly line is defective? 0.08 = 57‘

4
4.5d' A quality control manager found that 30% of work- Z /
| related problems occurred on Mondays and that /(m / ﬁ{,u,j = 0,20 = /Z

20% occurred in the last hour of a day’s shift. It was

" also found that 4% of worker-related problems Howr )= 0_((.9 5
) -
occurred in the last hour of Monday’s shift. Pl /I@n@ A Los # / 4
a. What is the probability that a worker-related ) 7 )
problem that occurs on a Monday does not a z - - P(Lim
oceur in the last hour of the day’s shift? P ( lm} = 4 26
'b. Are the events “Problem occurs on Monday” and » ) 004 — ==
. “Problem occurs in the last hour of the day’s = i - PlL 7 = &= 0,30 e -
shift” statistically independent? PN ) -

b) p(m).PLL) = 0:39- 0,20 = 0. 062 Or 9
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kil o T A
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463 Consider two groups of students: By, students who
received high scores on tests; and B,, students who
received low scores on tests. In group B;, 80% study
more than 25 hours per week, and in group B,, 40%
study more than 25 hours per week. What is the
overinvolvement ratio for high study levels in high

 test scores over low test scores?

P(" /31/:: &t‘f‘d
PCRL 1) =049

4.69 A corporation regularly takes deliveries of a particu-
lar sensitive part from three subcontractors. It found
that the proportion of parts that are good or defec-
tive from the total received were as shown in the fol-

lowing table:

Subcontractor
Part A B C
Good 0.27 0.30 0.33
Defective 0.02 0.05 0.03

a. If a part is chosen randomly from all those
received, what is the probability that it is
defective?

b. If a part is chosen randomly from all those
received, what is the probability it is from sub-
contractor B?

c. What is the probability that a part from subcon-
tractor B is defective?

d. What is the probability that a randomly chosen
defective part is from subcontractor B?

e. Is the quality of a part independent of the source
of supply?

f. In terms of quality, which of the three subcon-
tractors is most reliable?

Z) PIAND) ;,'—? PA). pPco)
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469) ' S0b contraeFo
lort___ A A c [ Zorac
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'ﬂq% 002 0060S 0,93 | 6,19

loroy 089 0,35 0,36 [ 1,090
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4.73 A campus student club distributed material about
membership to new students attending an orienta-
tion meeting. Of those receiving this material 40%
were men and 60% were women. Subsequently, it
was found that 7% of the men and 9% of the women
who received this material joined the club.

a. Find the probability that a randomly chosen
new student who receives the membership
material will join the club.

b. Find the probability that a randomly chosen
new student who joins the club after receiving
the membership material is a woman.

Gendle—

Al c b fad

st

C/dé e

t) P(W/Cj: £

477 Before books aimed at preschool children are mar-
keted, reactions are obtained from a panel of preschool
children. These reactions are categorized as “favor-
able,” “neutral,” or “unfavorable.” Subsequently, book
sales are categorized as “high,” “moderate,” or “low,”
according to the norms of this market. Similar panels
have evaluated 1,000 books in the past. The accompa-
nying table shows their reactions and the resulting
market performance of the books.

Panel Reaction

Sales Favorable Neutral Unfavorable
High 173 101 61 33§
Moderate 88 211 70 349
Low 42 113

141 294

a. If the panel re%?ﬁzon is fam whatznsq'&le 1000
probability that sales will be high?

b. If the panel reaction is unfavorable, what is the
probability that sales will be low?

c. If the panel reaction is neutral or better, what is
the probability that sales will be low?

d. If sales are low, what is the probability that the
panel reaction was neutral or better?

&0 54
D16 s4é

pownc) _

4 ?V Pim)=0,40 ; PCw)= 0,60
Plciml=0,0?; P (clw)=0,09

Then ;
Pimnc)= 0,40.0,03 = 2,028

/(uu/)é) = 8,600,009 = &/054

c) //3 +42
4,25+303

4 13142
296
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485 A publisher sends advertising materials for an 4-£. 5/
accounting text to 80% of all professors teaching the ﬁ
appropriate accounting course. Thirty percent of the

: Fro tfeso, a"'ﬁ/éﬂé the 4 50’4
professors who received this material adopted th
book, as did 10% of the professors v:hc? Idecl noi 48 Vo 7%-“ or fec/'e.uec/ 349-

receive the material. What is the probability that a

professor who adopts the book has received the ar/ Ue/‘ﬁ:f/:?j" M"'zé/‘/;z/

advertising material?

/——> P8)=0680 ; PLlRIB)= 0,70
ri|

s p(3) = 1- 08020, 40 ; prAIB) = 0,10

Ob0 . 0130 _
P(BIA) = — =, FS2
Ok0. 030+ 90409 1/0 =

4.86 A stock market analyst examined the prospects of
the shares of a large number of corporations. When ’ éé 3 1 g .. 2
the performance of these stocks was investigated g' & / w: LUC'DI‘JQ) A
one year later, it turned out that 25% performed
much better than the market average, 25% much .
worse, and the remaining 50% about the same as the ; * ; "9‘{ g U/
average. Forty percent of the stocks that turned out
to do much better than the market were rated “good
buys” by the analyst, as were 20% of those that did
about as well as the market and 10% of those that f(g) s 6125 ; P (6)5) = 0/4'0
did much worse. What is the probability that a stock -
rated a “good buy” by the analyst performed much

better than the average? D — P[[?’) ~0,59; Pla /A);‘-'ar 20

L—’PcW) = Q28 ; PLCIW) =010

PLB) PLEIB)

G/ =
Pl 8) Pl 1B PN PG 5 PO PLE Y

9/25.- 6/4(_7 e &/ 444
- 0,26.0,40 £ 0,50:0,20 0,25.9,/(0 %
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